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hirf hnd hirf kg hnt kg
1996 20 49 2 557 3164 2 393 2146 128 .5 242 2267 1
1997 2124 2 557 3501 2 423 2184 o .7 239 2289 3
1908 22 14 2 478 3679 2 500 2181 138.0 319 1017 2
1999 2B52 2 478 3739 2 330 21838 138.0 192 13330
2000 2418 2 478 3829 2 3% 2161 1314 .2 233 1376 0
2001 2497 2 473 3922 2 474 2052 1261.2 36 1102 1
2002 25 57 1534 4015 1761 1718 1041.6 213 1114 5
2003 26 46 1534 4017 1811 1656 1013.9 155 U5 9
2004 2698 1 534 4209 1481 1340 8% .0 141 893 4
2005 27 67 1 534 4573 1 501 1349 8% .9 152 %1 5
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S » S12
1996 142 041 2001 0.9 0.63
1997 1.30 0.64 2002 0.97 0.6l S 802 /
1998 120 0 .60 2003 1.14 0.68 (1) Sn
1999 111 065 2004 1.3 0.8 Sy= ay[(1- ky) “1- 1] dg ay ,
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S,=Sn+ Sp
Sz F S
S 392.8 / 1996 101 .7 493 9 505 6
. 1997 116 7 503 1 700 8
N ' 1998 106 1 43 3 542 4
S21 = X X 1999 0o e o .
L2l , 2000 85 4 414 5 499 9
0.12 2001 75 .2 358 1 433 3
. 2002 670 325 2 392 2
15, =8369x1000x1.39x0.12=139.6( ) o o 2 %22
2 : 2004 27 352 0 4247
o2 * x 2005 80 2 392 8 4730
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